光學作業 應物三甲 0932346 曾學志

Problem 9-3

Find the Fourier transform of the Gaussian function given by 
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where 
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 is the height and 
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the “width.” (Hint: Remember how to complete a square? You will also need the definite integral
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in your calculations.) Does the transform, interpreted as the frequency spectrum, show the proper relationship to the original “pulse” width?

Sol
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we know that 
[image: image20.wmf]s

w

1

=

D


_1235282045.unknown

_1235300616.unknown

_1235300623.unknown

_1235300824.unknown

_1235301100.unknown

_1235301101.unknown

_1235300877.unknown

_1235300793.unknown

_1235300594.unknown

_1235282052.unknown

_1235222875.unknown

_1235223593.unknown

_1235223847.unknown

_1235281995.unknown

_1235223598.unknown

_1235223242.unknown

_1235222262.unknown

_1235222409.unknown

_1235222255.unknown

